
64560 - 114     Rev.004

S
C

H
R

O
F

F
 G

m
b

H
D

/U
K

/F
  
0

7
/1

1
w

w
w

.s
ch

ro
ff
.b

iz

L
a

n
g

e
n

a
lb

e
r 

S
tr

a
ß

e
 9

6
 -

 1
0

0
  
  
  
 D

-7
5

3
3

4
 S

tr
a

u
b

e
n

h
a

rd
t 
  
  
  
Te

le
fo

n
: 
+

4
9

(0
)7

0
 8

2
 7

 9
4

-0
  
  
  
Te

le
fa

x:
 +

4
9

(0
)7

0
 8

2
 7

 9
4

 2
0

0

Benutzeranleitung
europacPRO
Baugruppenträger 3/6 HE
geschirmt gemäß IEEE

User Manual
europacPRO
Subrack 3/6 U
shielded according IEEE

Instructions utilisateur
europacPRO
Bacs à cartes 3/6 U
blindés selon IEEE



3 HE / 3 U

2

1 (2x)

2 (1x) 3 (1x)

4 (1x) 5 (1x)

9 (2x)

8 (2x)

7 (2x)

6 (2x)

10 (2x)

6

7 7

8 610

3 4 5 6 7 8 9 10 12 1311 15 16 17 181 142

160 80

8 10

12 (12x)
Torx 20

M4 x 10

11 (16x)
Torx 20

M4 x 14

13 (20x)
Torx 20

M4 x 6

5 x 30

2 x 30

40

5 x 30 2 x 3040



3

3 HE / 3 U

10

10

13

1,3 Nm

1,3 Nm

1311

2,4 Nm

12

2,4 Nm

1) 2)

2

5

4

3

6

8

9

6

1

2

7 7

8

9

4

3

11

12

11

11

12
11

11

11

12

12

2,4 Nm

11

12

1)

2)1211 2)1)



6 HE / 6 U

4

6 9 7 610

2 3 4 5 6 7 8 9 10 12 13 1411 15 16 17 181 2 14

160 80

5 x 30 2 x 3040

7,5

8 (1x)

7 (2x)

6 (4x)

9 (2x)

10 (2x)

1 (2x)

3 (1x)2 (1x) 5 (1x)4 (1x)

12 (12x)
Torx 20

M4 x 10

11 (18x)
Torx 20

M4 x 14

13 (20x)
Torx 20

M4 x 6

5 x 30

2 x 30

40



9

9
8

6

7

6

2

1

5

7

9

12

11

11

11

11
12

1

4

3

11

12

5

6 HE / 6 U

2

5

4

3

10

10 13

1,3 Nm

1,3 Nm

1311

2,4 Nm

12

2,4 Nm

1) 2)

2,4 Nm

11

12

1)

2)1211 2)1)


